Closing Tue: Sup 6-7 Entry Task:

Closing Wed: Sup 8-9 Get out the paperweights graph.
Read Sup 8-9 and my four page By drawing appropriate lines and
summary review of Sup 1-9. computing slopes estimate:
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Paperweights cost analysis
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Notes about AC, AVC, and AR:
1. They give'overallrate info,
but all are diagonal lines!

AC(Q) =
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average (because TC(q)
includes FC). ely =

3. AVC(q) does not include FC.
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By computing slopes, we get...

Then plotting these...

q 100 | 200 | 300 | 400 | 500 | 600 | 700 | 800 | 900 | 1000
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Key Concept Review/Observations
Go back to the TC, VC graphs

1. Compute:

A) Breakeven price (BEP)
B) Shutdown price (SDP)

Now look at the AC, AVC, MC graph.
Any observations?_
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Again, go back to the TC, VC graphs E‘(é P (S5 = Tilsey - Telse)
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By computing slopes, we get...

Then plotting these...
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